Building an atom

Cicr b the Virtwal Cuaniem Mechanics site at Kansas Swate Univ.:

hupi/fphys.edue ks edufsqmiindes.hml
Choose "Hydrogen Spectroscopy™ ta begin.
mote: General instructions are at the bottom of the page.

1. {ay Begin by noticing that the pas tube for hydrogen 1s automatically inserted into the pas lamp
sockets, Draw 4 energy levels, call them | = lowest, 2 = neat, ...+ = highest. Make the values of the
energics approximately E, =-10eV, E. =4V, E, = -2V, E, = -1 eV, Draw emission lines from 2 -
=13 -=2 4 =3,

(B Which of these emission lines is in the visible pan of the spectrum {i.e., which of the armows you
drew makes a colored line appear in the second black row near the 1op of the web page?
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(c) Why aren't the other two hines visible? Are they off the visible scuale because they are oo high
cnergy ¥ too low energy ? What type of clectromagnetic radiation might each one be?
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(id Look at the figure o the right. Try 1o create the n=6 E;= -0.378 ¢V
"Hulmer Senes™ Where should the other lines youw
necd ga? Pring (7 your resulis. n=s Eq= -0.544 ¢V
be fuplicaty o wding ddecfran— E,= -0.85cV
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